
FLEXBALL
I T A L I A N A
WR CONTROLS GROUP

34

90

77
°

M
ax

 a
dj

us
ta

bl
e 

an
gl

e 
to

 se
t

th
e 

m
ax

 rp
m

98

170

Idle position

Anti-tampering screw

Adjustable device
to set the max RPM 56

43

64

4xø5.5

> 1 di 2

Lever 415 offers the possibility to set minimum and working speeds, 

clearly identified with detents. Intermediate working speeds are not 

allowed because a return spring pushes back to minimum the lever 

and consequently the engine speed goes back to minimum, 

as soon as the lever exits from the working position.

Each engine is optimized at its working speed 

where CO
2
 emissions are reduced below per-

mitted levels. 

Once the working position has been defined 

during commissioning, the anti-tampering 

screw fixes permanently the working motor 

speed. 

The turn-off of the motor is actuated by push-

ing the lever beyond neutral position.

For all the other functions this lever is similar 

to lever 410 previously described. 

Version Thread A Outgoing cable position Code

Pull

M10x1 Right 415.10-00-0

1/8 gas Right 415.30-00-0

M10x1 Left 415.10-00-1

1/8 gas Left 415.30-00-1

Push-pull

M10x1 Right 415.10-10-0

1/8 gas Right 415.30-10-0

M10x1 Left 415.10-10-1

1/8 gas Left 415.30-10-1

	

VERSIONS & CODES

415  
Mechanical control lever

Lever 415 is for machines which, running most of their time at 
a fixed speed, they can fulfil the new regulations on low emis-
sions without the need to equip the motor with an expensive 
Electronic Control Unit (ECU). Typical application’s examples 
are machines with EPA homologation



Flexball Italiana S.r.l.
Via San Luigi 13/A - 10043 Orbassano (To) - Italy

Tel 0039.011 90.38.900 - Fax 0039.011 90.38.747
info@flexballitaliana.com
www.flexballitaliana.com

FLEXBALL
I T A L I A N A
WR CONTROLS GROUP

M
10

x1

L

35

58

250

ø1
.9

28

72

13

øM
12

x1

F

L

187

170

1103.3
ø6

.3

L

F

L 250

ø2
x4

9 
w

ire
s

12,500
ø6

.3
3,300

ø2
x4

9 
w

ire
s

250

L

54

30

250

M
6

ø2
x4

9 
w

ire
s

L

CABLES FOR LEVERS SERIES 410 AND 415

Type A Code

Push-pull M10 0025114-mmmmm

Push-pull 1/8 gas 0025110-mmmmm

Pull M10 0205114-mmmmm

Pull 1/8 gas 0205110-mmmmm

	

Type A F Code

Push-pull M10 10/32 0025118-mmmmm

Push-pull 1/8 gas 10/32 0025119-mmmmm

Push-pull M10 M5 0025118-5-mmmmm

Push-pull 1/8 gas M5 0025119-5-mmmmm

	

Type A F Code

Push-pull M10 10/32 0025116-mmmmm

Push-pull 1/8 gas 10/32 0025117-mmmmm

Push-pull M10 M5 0025116-5-mmmmm

Push-pull 1/8 gas M5 0025117-5-mmmmm

	

Type A Code

Pull M10 02051111-mmmmm

Pull 1/8 gas 0205113-mmmmm

	

Type A Code

Push-pull M10 0025111-mmmmm

Push-pull 1/8 gas 00251115-mmmmm

Pull M10 0205111-mmmmm

Pull 1/8 gas 0205110-mmmmm

	

Type A Code

Pull M10 02051114-mmmmm

Pull 1/8 gas 02051116-mmmmm

	

Notes: 

•	“A” specifies cable lever side thread

•	“F” specifies cable engine side thread

•	“mmmmm” is the length of the cable in mm

M
10

x1

L

35

58

250

ø1
.9

28

72

13

øM
12

x1

F

L

187

170

1103.3

ø6
.3

L

F

L 250

ø2
x4

9 
w

ire
s

12,500

ø6
.3

3,300

ø2
x4

9 
w

ire
s

250

L

54

30

250

M
6

ø2
x4

9 
w

ire
s

L

Cables are shown at mid stroke position

M
10

x1

L

35

58

250

ø1
.9

28

72

13

øM
12

x1

F

L

187

170

1103.3
ø6

.3

L

F

L 250

ø2
x4

9 
w

ire
s

12,500
ø6

.3
3,300

ø2
x4

9 
w

ire
s

250

L

54

30

250

M
6

ø2
x4

9 
w

ire
s

L

415 MECHANICAL CONTROL LEVER > 2 di 2


